cdokaor

Safety Net Fan - Extra wide type

The Formwork Experts.

610¢/¢| - 89-Ud 200EV¥666

94429-200-08

-

——
.

3
N
(/
..,.o ooo
A0
A0
ZOOONN
20000
Z000000
AN
AN
AN
AN
AN
OO
AN
AN
AN
e
AN
AN
A
RO
RN
NN
AR
AN
A RN
RN
R A AN
A e/
AR/ A0
NN L,
AR WYy
N OO TAN LA
A s
AR A
R R
Y,
R X

A AN <+

94430-200-01

Make sure that all connections
are fully tightend before you
move the SNF unit to the
structure!

Ratchet Spanners
19mm / 21mm
19mm/21mm

Spanners

Needed Tools

‘ Hammer

2pcs

{/
Y/
n R N7
R Y
A
R
& S A AR
= e
R
NN

94430-200-0:

94430-200-06

94430-200-03

OO
Al

Diagonal tube extension SNF2

Art.-Nr.: 584780000

07
94429-200-09

94429-200-

2pcCs
J
1pcC

Diagonal tube 4,25m SNF2

Art.-Nr.: 584779000
Lifting sling SNF2

Art.-Nr.: 584784000

AN
AOQCOROROOQONAMN
AOO00NOOOOUONONAR
AOOO0OOOCONONORAR
200000UOUOOOOOONAIA
OOV
XONOOOOOUOOOOOOOOORNA)
R
Z00ORO0O0ONIA

OO ARRAAAAAS
\ Qﬁ”&v QUOUOURR

200
{/
AN
\ Y/
A A
| DO
VTN
QOB
OO0
) \ Mwnb\»u%u%%%gpv
AN OO,
AN AN
AN YA
R
A At
BRI
R
R AN
A
AN
s
XN
AN AN
A
A
Y
NN
Aty
/e
X
O
N
QAR
O000R0ANKNN0
Y
NN
OO
RN
OO

94429-200-10

94429-200-03

Extension leg 0.75m SNF2 or
Extension leg 1.50m SNF2
SNF extra wide 3.10x5.85m SNF2 or
SNF extra wide 3.10x4.00m SNF2
Art.-Nr.: 584762000
Art.-Nr.: 584763000

The 60x60mm net layer (black)

has to be on the bottom side!

Art.-Nr.: 584771000
Art.-Nr.: 584770000

QU
NN —
000

X/
e

94429-200-12

...\

94429-200-13

Bolt M12x90 + Nylok nut M12

Wind lock SNF2
Art.-Nr.: 584778000

2pcs

3 sets of bolts incl.

150 ™"

04430-200-02
=

-Uni
Body 2.75m SNF2 or
Body 3.25m SNF2
Art.-Nr.: 584768000
Art.-Nr.: 584769000
Double coupler 48/48mm SNF2
Art.-Nr.: 584777000
94429-200-05

2pcs

94430-200-07
94430-200-05

Extension leg

94429-200-01

Double coupler 48/60mm SNF2

Assembly stool SNF2
Art.-Nr.: 584776000

Art.-Nr.: 584786000

Assembly - Sequences

Needed parts for ONE SNF

Weight*
[ka]
125
115
130
120

{—

94430-201-01

c [m]
4,70
4,70
4,70
4,70

b [m]
3,50£0,25
1,65 + 0,25
3,50£0,25
1,65 0,25

www.doka.com/downloadcenter

=
2
=
©
£
T
S
o
=
T
@
7]
3
)
=
=
©
@
o
D
)
S

a[m]
5,85
4,00
5,85
4,00

5

Body
Type
2,75
2,75
3,2
3,25

*Approx. weight of complete unit with slab attachment and

extension leg.

—t
94429-100

Make sure that the correct attachment application
(project specific) is already fixed onto the building
structure to fix the SNF-unit. Please follow the
instructions according to the actual user information

and check the safety regulations in your country.

Body Type




cdokaor

Safety Net Fan - Extra wide type

The Formwork Experts.

610¢/¢| - 89-Ud 200EV¥666

-
o~

)
<
=)
S
o
=)
Q
<
3
>

~ |

94430-202-03

—
<

/A
AN
AN
AN
A
AR
DO
AN
AN
AN
A
AN
/AR
Ny
AN

move the SNF unit to the
structure!

Ratchet Spanners
19mm / 21mm
19mm / 21mm

Spanners
are fully tightend before you

Needed Tools

E ‘ Hammer

Make sure that all connections

‘ Measuring Tape
‘ Marker Pen

2pcs ‘

AN
RN
Z00OOOOOOOO0ONNAX
ZO0ORACOOCO000000FAKXK)
ZOOOROOCOCOORHAXKXXX)
ZONOOROOOKRXXHARKXXNN
KOOOOOOOROOOCOBEZNKXX)
ZONONOOOROCOO0CAARNKXKXN
ZOAOORONNZOO7ANNXXXNK)
ZO0OORO ORI X XX
:00000000000%7/00 .41:00 WWW
AO00OCOOOCOReRNOAXXXH XXX
O AR
OO AR XXX

L

2pcs

)

RN i
)
e
S e e
A e
A
7
R A
A
i/ Y
e A
R
KRR
TR
Y
R
S
QL
/A
Y
N
O
QN
NN
A
R
QR
N
QN
QR
Wy
QRN

@y
94430-200-03
0

94430-200-06

Diagonal tube 4,25m SNF2

Art.-Nr.: 584779000
Lifting sling SNF2

Art.-Nr.: 584784000

1pcC

202-02
94429-200-09

94429

SNF extra wide 3.10x5.85m SNF2 or
SNF extra wide 3.10x4.00m SNF2

Supporting shoe SNF2
Art.-Nr.: 584782000
Art.-Nr.: 584762000
Art.-Nr.: 584763000

94430-202-03

AN
(/ )

N AR
AN
SO0

AR

Y

20NN

AR

O
AR

A

AONNNAALEON

XK

ALY

.:»‘»ﬁw\.i:::

QOOPAXXNKXYXXN)
000‘000 (YYYYY)
H\o::::u::::
\ %&N&?\.................
RRRARE AN
e
e
XN
NN
AN/
XN
NN

¥ 7
A
QOO OURANOOOONOO0 TR
OO X
XXX
OO
QOVVROLRROROUOROVIONXX)
QORAXY)
7NN
/Y
QN
O
QAN
N
OO
QNN
NN
QR
QOO0
NN
0N
QOO
O
e -
000
0
OO0
WY
(J

2pcs

Notice:
Position of Knee brace SNF2 can vary

T 94429-202-01

=

94429-200-10

>

depending on slab thickness.

",
AR
O
QOOOOO000000

The 60x60mm net layer (black)
has to be on the bottom side!

Knee brace SNF2
Art.-Nr.: 584775000
Wind lock SNF2
Art.-Nr.: 584778000

6pcs

94429-200-12

94429-200-13

Double coupler 48/48mm SNF2

Bolt M12x90 + Nylok nut M12
Art.-Nr.: 584777000

2pcs

3 sets of bolts incl.

150 ™"

.~Nr.: 584768000
Nr.: 584769000
94430-202-02

94429-200-05

Art
Art.

Double coupler 48/60mm SNF2

Body 2.75m SNF2 or
Body 3.25m SNF2
Art.-Nr.: 584776000

2pcs

94430-200-07
94430-200-05

Knee brace

94429-200-01

Diagonal tube extension SNF2

Assembly stool SNF2
Art.-Nr.: 584780000

Art.-Nr.: 584786000

Assembly - Sequences

Needed parts for ONE SNF

Weight*
[ka]
125
115
130
120

{—

94430-201-02

c [m]
4,70
4,70
4,70
4,70

b [m]
3,50£0,25
1,65 + 0,25
3,50£0,25
1,65 0,25

www.doka.com/downloadcenter

=
2
=
©
£
T
S
o
=
T
@
7]
3
)
=
=
©
@
o
D
)
S

a[m]
5,85
4,00
5,85
4,00

5
5

Body
Type
2,75
2,7
3,2
3,25

*Approx. weight of complete unit with slab attachment and

extension leg.

—t
94429-100

Make sure that the correct attachment application
(project specific) is already fixed onto the building
structure to fix the SNF-unit. Please follow the
instructions according to the actual user information

and check the safety regulations in your country.

Body Type




	Seite 1
	Seite 2

